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ITALIAN

Leaving Certificate Applied

MARKING SCHEME

(Total Marks: 65)

CREDITS
Credit 6: 56 — 65 Credit5: 46 -55 Credit4: 36-45
Credit3: 26-35 Credit2: 16 -25 Credit1: 7-15
Credit0: 0-6

Multiple-choice questions:

Where 2 answers are ticked and not cancelled = 0 marks.

Where 2 answers are ticked and 1 answer is cancelled, consider non-cancelled
answer.

Where only one answer is given and is cancelled, consider this as the answer




LISTENING COMPREHENSION TEST

Questions must be answered in English. Words in brackets not necessary for full marks.
Candidates are not penalized for spelling errors where spelling is not being tested.
Answers, however, must be phonetically recognizable.

Question 1: (6 x 1 mark) = 6 marks
Age Works in
Carla 24 a supermarket
Amir 19 a hotel
Laura 37 a school
Question 2: (2 x 1 mark) =
557 3199 v
800440990 Vv
Question 3:  (3x1) = 3 marks
A jacket v
Red v
€55 v
Question 4: (4 x 1 mark) = 4 marks (English already v on paper)
Likes Dislikes
English v
Italian v
Maths v
Geography v
History v
(Where 2 answers are ticked = 0 marks)
Question 5: (4 x 1 mark) = 4 marks

First conversation

A bookshop v
Go as far as the traffic lights and turn right. v/

Second conversation

The market v/
Go straight ahead and turn left. v/




Question 6: (3 x 1mark) = 3 marks

€)) Friday
(b) At 7.30
(c) Go for a pizza/go to eat a pizza/go to eat/go to a pizzeria/restaurant

Question 7: (5 x 1 mark) = 5 marks
2 (nights)
12 (1 mark) June(1 mark)
€80
CARPI
Question 8: (4 x 1 mark) = 4 marks
(@) (At)11(o’clock)
(b) Single v/
(c) €15
(d) Nov
Question 9: (4 x 1 mark) = 4 marks
Early in the morning v/
By train v
In an apartment v’
Two weeks v

TOTAL: 6+2+3+4+4+3+5+4+4 = 35MARKS



READING COMPREHENSION AND WRITTEN EXERCISE

Questions to be answered in English, unless stated otherwise. Marks are not deducted for
spelling errors. Words in brackets not necessary for full marks. Synonyms are accepted
for full marks.

Question1: 5 x 1 mark = 5 marks
(@) LAVANDERIA A SECCO Vv
(b) DEPOSITO BAGAGLI vV
(©) STAMPS v
(d) STADIO v
(e) AT A TRAIN STATION v
Question 2: 1+ 1+1+(1+1) marks = 5 marks
@ Two 1 mark
(b) Blue 1 mark
() Dog or cat 1 mark
(d) Any two of the following: 2 marks (1 +1)
Dancing/ballet
Watching television
Going to the gym
Question3: (1+1+1+1+1) = 5 marks
1 (a) Fish (soup) or vegetable soup 1 mark
(b) Two of the following: 2marks (1+1

Salmon (in butter)
(Grilled) steak
(Roast)Chicken

(c) Apple tart(pie/cake) or (fresh) fruit (salad) 1 mark

(d)One of the following: 1 mark
(Red/white) wine
(Mineral) water
Beer



Question4: (1+1+1+1+1) = 5 marks

(@) Sunday 1 mark
(b) May 1 mark
(c) €35 1 mark
(d)Any one of : 1 mark
Transport/Bus
Mini-cruise on boat/boat trip
Lunch/food/meal
(e) Website or telephone 1 mark
Question 5: 5 x 1 mark = 5 marks
NOME: Elena 1 mark
COGNOME: Dini 1 mark
INDIRIZZO: Via MAGIONE Numero 12 2 marks (1 +1)
Luogo di Nascita VERONA/ITALIA 1 mark
Question 6:  5x 1 mark = 5 marks

Paolo abita a TORINO. E una cittd molto BELLA. HA diciotto anni. Studia
L’INGLESE e gli piace leggere e andare al CINEMA.

TOTAL 5+5+5+5+5+5 = 30 MARKS
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